## Reimbursement

School: Blackstone School Month: August Home School: Self Serving School: Self Grade Level: All

Meal	Breakfast	Lunch	Total		
Total	\$996.93	\$3,998.48	\$4,995.41		

Enrollment	Free	Reduced	Paid
181	180	0	1

	Breakfast		
Enrollment	181	Average Daily Attendance (ADA)	165.1
Highest Number of Eligibles During the Month	Free	Reduced	Paid
	180	0	1
Average Daily Attendance Percentage		91.22%	
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
·	180	91.22%	164.1960
	Reduced Eligibles	ADA%	Total
	0	91.22%	0.0000
	Paid Eligibles	ADA%	Total
	1	91.22%	0.9122
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	164,1960	11	1806.1560
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	0.9122	11	10.0342
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	0	A THE	\$0.00
Reduced Price Meals	0	1.79	\$0.00
Free Meals	477	2.09	\$996.93
Total Meals Reimbursable (a + b + c)	477	The restriction of the contraction of the contracti	
Total Meal Reimbursement	A CONTRACTOR OF THE CONTRACTOR		\$996.93
Student Meals Not Reimbursable	0		
Adult Meals	0		
Percent of Free and Reduced Price Meals Served	and a shippy change of the 1400 and colored and annual colored and annual colored and annual colored and annual colored annual		100.00%
Average Daily Participation (ADP)	A		43.36
Percent ADP is of ADA			26.26%

	Breakfast Daily Breakdown											
Date	Date Reimbursable Meals					Elligible	Stude	nts*	Non-Reimbursable	Adult		
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals		
8/15/2025	16	0	0	16	178	0	2	180	0	0		
8/18/2025	45	0	0	45	172	0	1	173	0	0		
8/19/2025	49	0	0	49	172	0	1	173	0	0		
8/20/2025	50	0	0	50	172	0	1	173	0	0		
8/21/2025	45	0	0	45	172	0	1	173	0	0		
8/22/2025	46	0	0	46	172	0	1	173	0	0		
8/25/2025	47	0	0	47	173	0	0	173	0	0		
8/26/2025	34	0	0	34	173	0	0	173	0	0		
8/27/2025	44	0	0	44	173	0	0	173	0	0		
8/28/2025	49	0	0	49	173	0	0	173	0	0		
8/29/2025	52	0	0	52	173	0	0	173	0	0		

\$64.665 \$184.8969 \$1664 \$2566 \$1666 \$263 \$166 \$166 \$166 \$166 \$166 \$166 \$166 \$1	Breakfast												
Breakfast Daily Breakdown													
Date	Date Reimbursable Meals					Elligible	Stude	nts*		Adult			
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals			
Total:	477	0	0	477	180	0	1	181	0	0			

	Lunch		
Enrollment	181 .	Average Daily Attendance (ADA)	165.1
Highest Number of Eligibles During the Month	Free	Reduced	Paid
burning the Hontin	180	0	1
Average Daily Attendance Percentage		91.22%	
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
	180	91.22%	164.1960
	Reduced Eligibles	ADA%	Total ,
	0	91.22%	0.0000
	Paid Eligibles	ADA%	Total
	1	91.22%	0.9122
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	164.1960	11	1806.1560
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	0.9122	11	10.0342
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	0	0.39	\$0.00
Reduced Price Meals	0	2.91	\$0.00
Free Meals	1208	3.31	\$3,998.48
Total Meals Reimbursable (a + b + c)	1208		
Total Meal Reimbursement		1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	\$3,998.48
Student Meals Not Reimbursable	0		
Adult Meals	0		
Percent of Free and Reduced Price Meals Served			100.00%
Average Daily Participation (ADP)			109.82
Percent ADP is of ADA			66.52%

ATTACHER TO WAS A THE REAL PROPERTY OF THE PERSON NAMED IN COLUMN TO THE PERSON NAMED IN COLUMN	Lunch Daily Breakdown											
Date	R	eimbursab	le Meal	s		Elligible	Stude	nts*	Non-Reimbursable	Adult		
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals		
8/15/2025	55	0	0	55	178	0	2	180	0	0		
8/18/2025	121	0	0	121	172	0	1.	173	0	0		
8/19/2025	112	0 .	0	112	172	0	1	173	0	0		
8/20/2025	114	0 .	0	114	172	0	1	173	0	0		
8/21/2025	128	0	0	128	172	0 .	1	173	0	0		
8/22/2025	109	0	0	109	172	0	1	173	0	0 .		
8/25/2025	107	0	0	107	173	0	0	173	0	0		
8/26/2025	110	0	0	110	173	0	0	173	0	0		
8/27/2025	108	0	0	108	173	0	0	173	0	.0		
8/28/2025	117	0	0	117	173	0	0	173	0	0		
8/29/2025	127	0	0	127	173	0	0	173	0	0		
Total:	1208	0	0	1208	180	O	1	181	0	0		

<sup>\*</sup>Please note that the total Free and total Reduced Eligible Students is typically larger than eligible students for any single day (as individual

## Reimbursement

School: Lincoln School Month: August Home School: Self Serving School: Self Grade Level: All

	Meal	Breakfast	Lunch	Total		
ĺ	Total	\$1,302.07	\$7,669.86	\$8,971.93		

Enrollment	Free	Reduced	Paid
341	340	0	1

	Breakfast		
Enrollment	341	Average Daily Attendance (ADA)	314.364
Highest Number of Eligibles During the Month	Free	Reduced	Paid
	340	0	1
Average Daily Attendance Percentage		92.19%	
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
	340	92.19%	313.4460
	Reduced Eligibles	ADA%	Total
	0	92.19%	0.0000
	Paid Eligibles	ADA%	Total
	1	92.19%	0.9219
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	313.4460	11	3447.9060
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11 .	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	0.9219	11	10.1409
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	0		\$0.00
Reduced Price Meals	0	1.79	\$0.00
Free Meals	623	2.09	\$1,302.07
Total Meals Reimbursable (a $+$ b $+$ c)	623		
Total Meal Reimbursement			\$1,302.07
Student Meals Not Reimbursable	0		
Adult Meals	0		
Percent of Free and Reduced Price Meals Served			100.00%
Average Daily Participation (ADP)			56.64
Percent ADP is of ADA			18.02%

Breakfast Daily Breakdown											
Date	R	teimbursab	le Mea	ls		Elligible	Studer	nts*	Non-Reimbursable Meals	Adult Meals	
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment			
8/15/2025	34	0	0	34	335	0	1	336	0	0	
8/18/2025	43	0	0	43	323	0	1	324	0	0	
8/19/2025	50	0	0	50	323	0	1	324	0	0	
8/20/2025	57	0	0	57	325	0	1	326	0	0	
8/21/2025	60	0	0	60	325	0	1	326	0	0	
8/22/2025	67	0	0	67	324	0	1	325	0	0	
8/25/2025	58	0	0	58	327	0	1	328	0	0	
8/26/2025	56	0	0	56	327	0	1	328	0	0	
8/27/2025	63	0	0	63	327	0	1	328	0	0	
8/28/2025	62	0	0	62	327	0	1	328	0	0	
8/29/2025	73	0	0	73	327	0	1	328	0	0	

Breakfast												
AND THE PROPERTY OF THE PROPER			012401470U-954670	Br	eakfas	t Daily Brea	akdowi	1				
Date	Date Reimbursable Meals					Elligible	Stude	ıts*	Non-Reimbursable	Adult		
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals		
Total:												

томического послед настания на послед на станова на послед на пос	Lunch		
Enrollment	341	Average Daily Attendance (ADA)	314.364
Highest Number of Eligibles During the Month	Free	Reduced	Paid
Daring the Floridi	340	0	1
Average Daily Attendance Percentage		92.19%	**************************************
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
	340	92.19%	313.4460
	Reduced Eligibles	ADA%	Total
	0	92.19%	0.0000
	Paid Eligibles	ADA%	Total
	1	92.19%	0.9219
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	313.4460	11	3447.9060
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	0.9219	11	10.1409
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	10	0.39	\$3.90
Reduced Price Meals	0	2.91	\$0.00
Free Meals	2316	3.31	\$7,665.96
Total Meals Reimbursable (a + b + c)	2326		
Total Meal Reimbursement		2073 PROTOTO O O O O O O O O O O O O O O O O O	\$7,669.86
Student Meals Not Reimbursable	0		
Adult Meals	0		NATIONAL CONTRACTOR OF THE PROPERTY AND A STATE OF THE PRO
Percent of Free and Reduced Price Meals Served			99.57%
Average Daily Participation (ADP)	A THE WAY THE		211.45
Percent ADP is of ADA			67.26%

				ı	unch L	Daily Break	down			
Date	R	eimbursab	le Meal	s		Elligible	Stude	Non-Reimbursable	Adult	
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals
8/15/2025	210,	0	1	211	335	0	1	336	0	0
8/18/2025	222	0	1	223	323	0	1	324	0	0
8/19/2025	195	0	1	196	323	0	1	324	0	0
8/20/2025	190	0	1	191	325	0 .	1	326	0 .	0
8/21/2025	228	0	0	228	325	0	1	326	0	0
8/22/2025	197	0	1	198	324	0	1	325	0	0
8/25/2025	206	0	1	207	327	0	1	328	0	0
8/26/2025	212	0	1	213	327	0	1	328	0	0
8/27/2025	210	0	1	211	327	0	1	328	0	0
8/28/2025	217	0	1	218	327	0	1	328	0	0
8/29/2025	229	0	1	230	327	0	1	328	0	0
Total:	2316	0	10	2326	340	0	1	341	0	0

<sup>\*</sup>Please note that the total Free and total Reduced Eligible Students is typically larger than eligible students for any single day (as individual

## Reimbursement

School: Northbrook School Month: August Home School: Self Serving School: Self Grade Level: All

Meal	Breakfast	Lunch	Preschool Special Milk	Total
Total	\$1,513.16	\$11,320.20	1 1 - 1 - 1	\$12,833.36

Enrollment	Free	Reduced	Paid
496	472	0	24

NEW YORK ON THE CONTRACT OF TH	Breakfast		- (after southern to research experience of the first of
Enrollment	496	Average Daily Attendance (ADA)	416.864
Highest Number of Eligibles During the Month	Free	Reduced	Paid
	472	0	24
Average Daily Attendance Percentage		84.05%	
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
	472	84.05%	.396.7160
	Reduced Eligibles	ADA%	Total
	0	84.05%	0.0000
	Paid Eligibles	ADA%	Total
	24	84.05%	20.1720
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	396.7160	11	4363.8760
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	20.1720	11	221.8920
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	0	granden or was data data data data data data da	\$0.00
Reduced Price Meals	0	1.79	\$0.00
Free Meals	724	2.09	\$1,513.16
Total Meals Reimbursable (a + b + c)	724	CONTRACTOR OF THE CONTRACTOR O	
Total Meal Reimbursement		A 3 CO	\$1,513.16
Student Meals Not Reimbursable	0	NET LIGHT OF THE STATE OF THE S	
Adult Meals	0		
Percent of Free and Reduced Price Meals Served	A A A A A A A A A A A A A A A A A A A		100.00%
Average Daily Participation (ADP)			65.82
Percent ADP is of ADA			15.79%

				Br	eakfas	t Daily Bre	akdowi	n		
Date	F	teimbursab	le Mea	ls		Elligible	Stude	Non-Reimbursable	Adult	
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals
8/15/2025	15	0	0	15	444	0	52	496	0	0
8/18/2025	34	0	0	34	424	0	49	473	0	0
8/19/2025	43	0	0	43	424	0	49	473	0	0
8/20/2025	80	0	0	80	449	0	24	473	0	0
8/21/2025	63	0	0	63	449	0	24	473	0	0
8/22/2025	76	0	0	76	449	0	24	473	0	0
8/25/2025	79	0	0	79	449	0	24	473	0	0
8/26/2025	81	0	0	81	449	0	24	473	0	0
8/27/2025	95	0	0	95	449	0	24	473	0	0
8/28/2025	73	0	0	73	449	0	24	473	0	0
8/29/2025	85	0	0	85	448	0	24	472	0	0

	***************************************	CONTROCTOR THE TOTAL THE BOTH FOR THE TOTAL CORP. THE SHE				Breakfa	st	ng ang appellang ang ang paggal namat ang		ACLANICA MORE IN MICHINENIE MICHININI	64 MATHEMATICA DA FORMANIA PARAMENTA
ACCOUNTS OF THE PROPERTY OF TH	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			Br	eakfas	t Daily Bre	akdowi	1			
Date	Date Reimbursable Meals Elligible Stud										
	Free	Reduced	Paid	Total	Free Reduced Paid Enrollment Meals					Meals	
Total:	724	0	0	724	472	0	24	496	0	0	

COMPANIA DE LA COMPANIA DE LA COMPANIA DE LA COMPANIA DE C	Lunch	инициональный при от том о	CONSCINENCE CONTRACTOR PROPERTY OF THE STATE
Enrollment	496	Average Daily Attendance (ADA)	416,864
Highest Number of Eligibles During the Month	Free	Reduced	Paid
	472	O	24
Average Daily Attendance Percentage	DOCESTA DOCUMENTO DE COMPANSA DE PROPERTO DE PROPERTO DE PROPERTO DE PROPERTO DE PROPERTO DE PROPERTO DE PROPE	84.05%	
Attendance Adjusted Eligibles	Free Eligibles	ADA%	Total
	472	84.05%	396.7160
	Reduced Eligibles	ADA%	Total
	0	84.05%	0.0000
	Paid Eligibles	ADA%	Total
	24	84.05%	20.1720
Maximum Number of Meals	AA Free Eligibles	Number of Serving Days	Total
	396.7160	11	4363.8760
	AA Reduced Eligibles	Number of Serving Days	Total
	0.0000	11	0.0000
	AA Paid Eligibles	Number of Serving Days	Total
	20.1720	11	221.8920
Number of Days Meal Served	11		
Reimbursable Meals Served Students Only (Severe Need Meal Rates)	Count	Rate	Total
Full Price Meals	0	0.39	\$0.00
Reduced Price Meals	0	2.91	\$0.00
Free Meals	3420	3.31	\$11,320.20
Total Meals Reimbursable (a $+$ b $+$ c)	3420		
Total Meal Reimbursement			\$11,320.20
Student Meals Not Reimbursable	0		***************************************
Adult Meals	55		
Percent of Free and Reduced Price Meals Served			100.00%
Average Daily Participation (ADP)			310.91
Percent ADP is of ADA			74.58%

				l.	unch I	Daily Break	down				
Date	R	eimbursab	le Meal	s		Elligible	Stude	Non-Reimbursable	Adult		
	Free	Reduced	Paid	Total	Free	Reduced	Paid	Enrollment	Meals	Meals	
8/15/2025	309	0	0	309	444	0	52	496	0	4	
8/18/2025	302	0	0	302	424	0	49	473	0	3	
8/19/2025	317	0	0	317	424	0	49	473	0	6	
8/20/2025	301	0	0	301	449	0	24	473	0	4	
8/21/2025	314	0	0	314	449	0	24	473	0	4	
8/22/2025	311	0 .	0	311	449	0	24	473	0	4	
8/25/2025	307	0	0	307	449	0	24	473	0	7	
8/26/2025	323	0	0	323	449	0	24	473	0	6	
8/27/2025	314	0	0	314	449	0	24	473	0	10	
8/28/2025	313	0	0	313	449	0	24	473	0	2	
8/29/2025	309	0	0	309	448	0	24	472	0	5	
Total:	3420	0	0	3420	472	0	24	496	0	55	

	11///				***************************************	Presc	chool	Specia	Milk		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	W		
Enrollm	nrollment									Avera	ge Daily Attendance	(ADA)	416.864	
Highest During t	Numbe he Moi	er of Eligibl nth	es			Fr	·ee	Reduc			ed		Paid	
***************************************						47	72			0	NELANDA SERBERA PARA PERSONA DI PARA PARA PARA PARA PARA PARA PARA PAR	24		
Average	Average Daily Attendance Percentage									84.05%	/o	**************************************	szasszanasári elekelententő élekíntélésen	
Attendance Adjusted Eligibles						Fr	ee Eli	gibles		ADA%			Total	
							72			84.05%	6		396.7160	
							educed	i Eligibl	es	ADA%	AN ANTE SA PARE ANTE ANTE CONTROL CONTROL CONTROL CONTROL CONTRACTOR CONTROL C	***************************************	Total	
						0				84.05%	<b>%</b>		0.0000	
						Pa	aid Eliç	gibles	DIEGO DECENCIA ELA RISSE E PALON	ADA%			Total	
										84.05%	6		20.1720	
Maximum Number of Meals						A	A Free	Eligible	es	Numbe	er of Serving Days		Total	
						39	96.716	50		11			4363.8760	
						Ā	A Redu	ıced Eli	gibles	Numbe	Total			
						0.	0.0000				11			
					A	A Paid	Eligible	S	Numbe	er of Serving Days	./	Total		
						20	20.1720			11	221.8920			
Number	of Day	s Meal Ser	ved	***************************************	an de la companya de	1:	11				ECANDONALACIA POLICIA SENDINA AND HECHOLOGICA COMPONIA O SECONO A CARLA A VIGANO PARIO A PROTECCIÓN ANTICA APPAR			
		Meals Serve		lents O	nly	C	Count			Rate	Total			
Full Pri	ce Meal	\$	THE PERSON NAMED OF THE PE	andronkindistanktolinentolini	***************************************	0	CANADA BARANTA TENDRALA	VACONING CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CONTRACTOR CO		0.21	\$0.00			
Reduce	ed Price	Meals				0		interiorena sedi ordendo A. Adicirio		0.21	\$0.00			
Free M	eals					0		***************************************	***************************************	0.21	\$0.00			
Total M	leals Re	imbursable	(a + b +	- c)		0						***************************************		
Total Me	eal Reir	nbursemer	ıt					***************************************			44944 L. 1444	*******************************	\$0.00	
Student Meals Not Reimbursable						0		MOREOLIUM BREEKENSTA		CONTRACTOR OF THE STATE OF THE			ANNA ANA STATE OF THE STATE OF	
Adult Meals						0	***************************************			·				
Percent of Free and Reduced Price Meals Served						ed	MARINENAN AND AND AND AND AND AND AND AND AND	omovominaaa iskakool Malinkiisk	************	-		unaunomic sucrativitiviti	0.00%	
vermentanian marine		Participatio	n (ADF	P)						a populos de substitución de la companya de la comp		uzumani valizni vi vi 4000.04400.00	0	
Percent	ADP is	of ADA	TOTAL CONTROL OF THE SAME		***************************************		***************************************		***************************************				0.00%	
				Presch	ool Sp	ecial N	Milk D	aily Br	eakdo	wn				
Date	F	Reimbursat	le Mea	ls		Elli	igible	Stude	ıts*	11411 1141114 11414   1141		Adult		
	Free	Reduced	Paid	Total	Free	Redu	uced	Paid	Enro	llment	Meals	Meals		
Total:	0	0	0	0	472	0		24	496		0	0	1	

*Please note that the total Free and total Reduced Eligible Students is typically larger than eligible students for any single day (as individual
students may move between groups)